<3 @> (rad)

Ratiq

<op/p. > (%)

o
N
X
=
o
&
(=
N
X
=
o
&

o
[EnN
(¢)]

< d cot(B) >
o
=
4]

o
[y
o
Py

.uuuu!uuuu!uuuu -0.2

-0.2F o-0.2¢ - FITTIT
o R R s b i IH 1.
- AR =% ; IF
05F . 1] (R S 1 8 i
O: A = LT ) o 3 0: | B |
-3 -2 -1 0 1 2 3 -3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
= Bé”;& S
= DOM-TT—MREITrowPiQ_MODIE
= DOM-TT—MKEITCowbtT-MODIE
—— DOM_TT—MRFiTandPLess_MODIF
r " T — 100 " " " ” ”
: | EEAIE 1 [ABIT (LRI (I
80 T B 1 1 | = 80 I T[T : 1]
E : : i A E : : : 3 ]
60 T T T < 6011 T T E 1
r " : . 2o} r : : 4 3
40 ST TUTHE v A0 11ITTTE Al 1
20F- SR 20F- Mttt 11 4t
r . % 3 L r : y
O 1[I T T O 11111l Al
-20F AT B 1| —20F- [ -t
—40:— I """ —40:— ¥l e
~60F- oL 1 =60 11|kt 111l
-80F TG 111 -80f
r u r "
1oo_||||luuuu!||||!||||!|=v||!|||| O_lOQ:|||||||||!||||||||||||||||
8381141 1 1 5418 B
E ] B ] JIn! 2 |
ot ; r A : 3 . ok L ‘ L A ]
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

5E TR
aF A1 TR T
3F TR R
o ' N [¥
1 At -
oF TR [T AR et
-1= ' L TR TR
-2F it
E
_sE LUl UL LI |
2:_. g 4+
£ Ll AL {1
ob ol I1E [{l L ¢ [ITTTNNER e U3l DILIIEE
=3 -2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


